ELEC 225
Circuit Theory I
Fall 2013
Selected Answers to HW #8
Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
7.39
Zeq = 6000 + j2000 
1.
[mult. choice answer not given]; VL = 22 L 63° V
2.
min. voltage rating of capacitor = 40 V; min. current rating of inductor = 1.8 A
3.
There was a typographical error in the problem statement. The inductor should have had

a value of 0.88 H. There is no frequency at which the current Ig is in phase with the voltage Vg if L = 16 H. I will tell the grader to discard this problem. The problem will be repeated on HW #9 with the value of L changed to 0.88 H.
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